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1 |& Y 2,741 5 0.18 2,181 0 0.00
2 |8 % 7,854 4 0.05 7,882 2 0.03
3|5 S 4,040 0 0.00 3,999 2 0.05
4 |&| it 10,940 5 0.05 10,800 7 0.06
5 |18 = 5,936 5 0.08 5,641 4 0.07
6 |FE =] 1,243 0 0.00 1,162 0 0.00
7 |F = 10,920 5 0.05 11,015 1 0.01
8 |® = 8,003 10 0.12 7,522 6 0.08
9 |Bg B 14,722 10 0.07 15,206 9 0.06
10 (4 P 18,244 19 0.10 18,326 9 0.05
11 e 3,290 1 0.03 3,158 1 0.03
12 |87 B 4,381 1 0.02 3,125 0 0.00
13|E 0] 3,793 0 0.00 3611 3 0.08
14 ;& A 5,627 2 0.04 5,886 3 0.05
15 = B 10,354 3 0.03 9,973 3 0.03
16 1E 4,657 3 0.06 4,720 0 0.00
17X B 20,737 0 0.00 20,000 0 0.00
18 B8 i} 17,230 3 0.02 16,462 4 0.02
19 |48 Al 6,641 3 0.05 6,683 4 0.06
20|70 & W 7,250 1 0.01 7,220 4 0.06
21 |1l =3 7,526 8 0.11 7,455 6 0.08
22 | [ 1 6,800 6 0.09 6,887 12 0.17
23 | E3] 8,467 3 0.04 8,632 1 0.01
24|11 m] 5,443 1 0.02 5216 2 0.04
25 | & n 9,016 1 0.01 9,029 0 0.00
26 | & 1% 3,583 0 0.00 3,560 3 0.08
27 |1 i 9,694 11 0.11 10,159 10 0.10
28 |4 7l 2,985 5 0.17 3,204 0 0.00
29 | & 5 5,487 4 0.07 5,835 2 0.03
30 |BE X 8,648 8 0.09 9,061 7 0.08
= B 236,252 127 0.05 233,610 105 0.04
500 &K KL E 15,371 7 0.04 15,128 5 0.04
I (400 FR LL E 8,614 6 0.07 8,714 4 0.05
#1300 &K LI £ 6,154 3 0.05 6,313 4 0.06
300 FR X i 3,083 2 0.08 3,016 1 0.02
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